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QUESTION 1

What is the total length of the port ID in STP? 

A. 4 bits 

B. 8 bits 

C. 2 bits 

D. 16 bits 

Correct Answer: D 

 

QUESTION 2

Two routers are configured with OSPFv3. OSPFv3 is enabled on all interfaces of each router. Which of the following is
true in the event that the network administrator does not configure a Router-ID? 

A. The IP address of the loopback 0 interface will be used as the router ID 

B. The IP address of the loopback 1 interface will be used as the router ID 

C. The IP address of interface G0/0/0 will be used as the router ID 

D. No router ID will be assigned to the router. 

Correct Answer: D 

 

QUESTION 3

Which of the following values if the Flag field of an IPv6 multicast address indicates that the multicast address is a
permanent multicast address? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: A 

 

QUESTION 4

The correct statement about inter-VLAN communication is (). (multiple choice) 

A. Inter-VLAN communication can be achieved by one-arm routing 
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B. Inter-VLAN communication can be realized through a three-layer switch 

C. Inter-VLAN communication cannot be implemented through a Layer 2 switch. 

D. Inter-VLAN communication can be realized by GVRP 

E. Inter-VLAN communication must rely on routers to achieve 

Correct Answer: ABC 

 

QUESTION 5

Which of the following OSPF versions is for IPv6? 

A. OSPFv1 

B. OSPFv2 

C. OSPFv3 

D. OSPFv4 

Correct Answer: C 
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